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QUESTION 1

Which two statements are true in a SnapMirror LS mirror relationship? (Choose Two) A. Client requests to write data are
allowed if the user is root

B. Client requests to write data are denied unless accessing the admin share.
C. Client requests to read data are only allowed if the mirror is up-to-date.
D. Client requests to read data are redirected to the LS mirror destination volumes.

Correct Answer: BD

QUESTION 2

Which two LIFs are able to failover or migrate to other nodes in the cluster? (Choose two.)
A. cluster LIF

B. data LIF of protocol CIFS

C. data LIF of protocol FCoE

D. data LIF of protocol iSCSI

E. data LIF of protocol NFS

F. intercluster LIF

G. node management LIF

Correct Answer: BE

QUESTION 3

When assigning shelf IDs to SAS-connected shelves, which statement is true?
A. They only need to be unique within an HA pair.

B. They only need to be unique within a stack.

C. They only need to be unique within a node.

D. They need to be unique within a cluster.

Correct Answer: A

IDs must be unique within an HA pair. Reference: https://library.netapp.com/ecmdocs/ECMP1256807/html/ GUID-
FF56A1A7- F2ED-4F3D-BC2A-366609422B4D.html
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QUESTION 4

A customer has lost access to shares being used by an application.

What are three troubleshooting steps the administrator should take? (Choose three.)
A. Verify that the admin SVM is running on the node being accessed by the customer.
B. Verify that the LIF resides on its home port.

C. Verify that the LIFs in the SVM are all up and active.

D. Verify that the SVM has CIFS running, that the share exists, and is online.

E. Verify that there is network connectivity between the SMB client and the SVM.

Correct Answer: ABD

QUESTION 5

Which of the following steps must be completed before a CIFS share can be active?
A. Configure name mapping

B. License both NFS and CIFS

C. Create a data LIF for the CIFS server on every node

D. Reboot the node containing the CIFS Vserver root volume

Correct Answer: A
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